
A

A'

F

H H'

I
K K'J

J'

G'

E

C

C'

B

F'

D D'

B'

I'

G

E'

L

L'

M

M' N

N'
O

p p'

O'

96'' (2440mm)

7 
13

/3
2"

(1
88

m
m

)
11

 2
7/

64
"

(2
90

m
m

)

24''
(600mm)

24''
(600mm)

one per piece l profile

3/
4'

' (
20

m
m

)

3/8'' (10mm)

3/4'' (20mm)

min. 1 1/2"
(40mm)

lateral edge dist.
3/4" - 1 1/2"
(20-40mm)

3/4"
(20mm)

dist. between
slat and clip
1/16" (1mm)

A-A' FAÇADE BASE

B-B' PARAPET CAP

C-C' HORIZONTAL JOINT

D-D' VERTICAL JOINT

E-E' WINDOW SILL

F-F' WINDOW JAMB

G-G' WINDOW HEAD

H-H' INSIDE CORNER

I-I' OUTSIDE CORNER

J-J' DOOR HEAD

K-K' DOOR JAMB

The updated version of this present installation detail can be found on the PARKLEX PRODEMA web.
Panel sizes and maximum distances in technical catalogue.

FIXING DETAIL MEASURES: INCHES & MM

Measurements in inches are approximated. Real measurements in mm.

/

www.parklexprodema.com TITLEPLAN#

DATE

PAGEAPPROVED BY

DRAWN BYPRODUCT SYSTEM

01/2022Joseba Salbide

Maialen Irastorza

FAÇADE SIDING (METALLIC FRAME)
VERTICAL LAYOUTNATURSIDING

GENERAL PERSPECTIVENS1-01V-B-G.P. 1 20

L-L' WALL-SOFFIT INSIDE CORNER 1

M-M' WALL-SOFFIT INSIDE CORNER 2

P-P' SOFFIT JOINT

N-N' WALL-SOFFIT OUTSIDE CORNER 1

O-O' WALL-SOFFIT OUTSIDE CORNER 2

DO NOT OVERTIGHTEN THE SCREW!

Torque recommendations for SX3 screw:

5Nm to fasten the panel on a 7/64” thick aluminum channel



supporting wall

3.1

A

B
2.2

6

E

1

3.1

2.1

4

5

7

2.1

8
2.1

1    NATURSIDING
2   Screws

   2.1   Clip fixing screw
   2.2   Wall fixing screw - by others

3   Profiles

   3.5   Jamb profile - by others

   3.3   Coronation profile - by others

4   Fixing clip

A   Required min. air chamber ≥ 3/4" (20mm)
B   Circulation of air ≥ 3/4" (20mm)

E   Panel thickness   5/16" (8mm)
D   Horizontal expansion joint  1/4" (6mm)

   2.4   Washer 1/8" (3mm) - by others

   3.4   Sill profile - by others

6   Vent. screen - by others

C   Vertical expansion joint 1/16" (1mm)

5   Water resistant barrier - by others

   2.3   SX3 screw

   3.6   Corner profile - by others

7   Concrete Wall - by others

   3.2   Aluminum HAT channel - by others
   3.1   Aluminum J channel - by others

8   Base L profile - by others

A

A'
Scale 1:2

/

www.parklexprodema.com TITLEPLAN#

DATE

PAGEAPPROVED BY

DRAWN BYPRODUCT SYSTEM

Measures: inchMeasurements in inches are approximated. Real measurements in mm.

01/2022Joseba Salbide

Maialen Irastorza

FAÇADE SIDING (METALLIC FRAME)
VERTICAL LAYOUTNATURSIDING

DETAIL A-A' // FAÇADE BASENS1-01V-B-A 2 20



B

supporting wall EA

B

3.3

1

2.1

4

5

7

3.1

3.1

2.2

1    NATURSIDING
2   Screws

   2.1   Clip fixing screw
   2.2   Wall fixing screw - by others

3   Profiles

   3.5   Jamb profile - by others

   3.3   Coronation profile - by others

4   Fixing clip

A   Required min. air chamber ≥ 3/4" (20mm)
B   Circulation of air ≥ 3/4" (20mm)

E   Panel thickness   5/16" (8mm)
D   Horizontal expansion joint  1/4" (6mm)

   2.4   Washer 1/8" (3mm) - by others

   3.4   Sill profile - by others

6   Vent. screen - by others

C   Vertical expansion joint 1/16" (1mm)

5   Water resistant barrier - by others

   2.3   SX3 screw

   3.6   Corner profile - by others

7   Concrete Wall - by others

   3.2   Aluminum HAT channel - by others
   3.1   Aluminum J channel - by others

8   Base L profile - by others

B
B'

Scale 1:2

/

www.parklexprodema.com TITLEPLAN#

DATE

PAGEAPPROVED BY

DRAWN BYPRODUCT SYSTEM

Measures: inchMeasurements in inches are approximated. Real measurements in mm.

01/2022Joseba Salbide

Maialen Irastorza

FAÇADE SIDING (METALLIC FRAME)
VERTICAL LAYOUTNATURSIDING

DETAIL B-B' // PARAPET CAPNS1-01V-B-B 3 20



supporting wall A

3.2

3.1

5

7

E

D

1

2.2

2.1

4

2.1

4

8
2.1

1    NATURSIDING
2   Screws

   2.1   Clip fixing screw
   2.2   Wall fixing screw - by others

3   Profiles

   3.5   Jamb profile - by others

   3.3   Coronation profile - by others

4   Fixing clip

A   Required min. air chamber ≥ 3/4" (20mm)
B   Circulation of air ≥ 3/4" (20mm)

E   Panel thickness   5/16" (8mm)
D   Horizontal expansion joint  1/4" (6mm)

   2.4   Washer 1/8" (3mm) - by others

   3.4   Sill profile - by others

6   Vent. screen - by others

C   Vertical expansion joint 1/16" (1mm)

5   Water resistant barrier - by others

   2.3   SX3 screw

   3.6   Corner profile - by others

7   Concrete Wall - by others

   3.2   Aluminum HAT channel - by others
   3.1   Aluminum J channel - by others

8   Base L profile - by others

C

C'

Scale 1:2

/

www.parklexprodema.com TITLEPLAN#

DATE

PAGEAPPROVED BY

DRAWN BYPRODUCT SYSTEM

Measures: inchMeasurements in inches are approximated. Real measurements in mm.

01/2022Joseba Salbide

Maialen Irastorza

FAÇADE SIDING (METALLIC FRAME)
VERTICAL LAYOUTNATURSIDING

DETAIL C-C' // HORIZONTAL JOINTNS1-01V-B-C 4 20



A
E

su
pp

or
tin

g 
w

al
l

2.21 3.1/3.22.14

C

57 3.1

1    NATURSIDING
2   Screws

   2.1   Clip fixing screw
   2.2   Wall fixing screw - by others

3   Profiles

   3.5   Jamb profile - by others

   3.3   Coronation profile - by others

4   Fixing clip

A   Required min. air chamber ≥ 3/4" (20mm)
B   Circulation of air ≥ 3/4" (20mm)

E   Panel thickness   5/16" (8mm)
D   Horizontal expansion joint  1/4" (6mm)

   2.4   Washer 1/8" (3mm) - by others

   3.4   Sill profile - by others

6   Vent. screen - by others

C   Vertical expansion joint 1/16" (1mm)

5   Water resistant barrier - by others

   2.3   SX3 screw

   3.6   Corner profile - by others

7   Concrete Wall - by others

   3.2   Aluminum HAT channel - by others
   3.1   Aluminum J channel - by others

8   Base L profile - by others

D D'

Scale 1:2

/

www.parklexprodema.com TITLEPLAN#

DATE

PAGEAPPROVED BY

DRAWN BYPRODUCT SYSTEM

Measures: inchMeasurements in inches are approximated. Real measurements in mm.

01/2022Joseba Salbide

Maialen Irastorza

FAÇADE SIDING (METALLIC FRAME)
VERTICAL LAYOUTNATURSIDING

DETAIL D-D' // VERTICAL JOINTNS1-01V-B-D 5 20



A E

window frame
sill

supporting wall

2.2

3.4

1

2.1

4

5

7

3.1

3.1

B

B

1    NATURSIDING
2   Screws

   2.1   Clip fixing screw
   2.2   Wall fixing screw - by others

3   Profiles

   3.5   Jamb profile - by others

   3.3   Coronation profile - by others

4   Fixing clip

A   Required min. air chamber ≥ 3/4" (20mm)
B   Circulation of air ≥ 3/4" (20mm)

E   Panel thickness   5/16" (8mm)
D   Horizontal expansion joint  1/4" (6mm)

   2.4   Washer 1/8" (3mm) - by others

   3.4   Sill profile - by others

6   Vent. screen - by others

C   Vertical expansion joint 1/16" (1mm)

5   Water resistant barrier - by others

   2.3   SX3 screw

   3.6   Corner profile - by others

7   Concrete Wall - by others

   3.2   Aluminum HAT channel - by others
   3.1   Aluminum J channel - by others

8   Base L profile - by others

E

E'

Scale 1:2

/

www.parklexprodema.com TITLEPLAN#

DATE

PAGEAPPROVED BY

DRAWN BYPRODUCT SYSTEM

Measures: inchMeasurements in inches are approximated. Real measurements in mm.

01/2022Joseba Salbide

Maialen Irastorza

FAÇADE SIDING (METALLIC FRAME)
VERTICAL LAYOUTNATURSIDING

DETAIL E-E' // WINDOW SILLNS1-01V-B-E 6 20



D/2

E
A

su
pp

or
tin

g 
w

al
l

window
frame
jamb

3.5

13.1 72.14 5 3.1/3.2

1    NATURSIDING
2   Screws

   2.1   Clip fixing screw
   2.2   Wall fixing screw - by others

3   Profiles

   3.5   Jamb profile - by others

   3.3   Coronation profile - by others

4   Fixing clip

A   Required min. air chamber ≥ 3/4" (20mm)
B   Circulation of air ≥ 3/4" (20mm)

E   Panel thickness   5/16" (8mm)
D   Horizontal expansion joint  1/4" (6mm)

   2.4   Washer 1/8" (3mm) - by others

   3.4   Sill profile - by others

6   Vent. screen - by others

C   Vertical expansion joint 1/16" (1mm)

5   Water resistant barrier - by others

   2.3   SX3 screw

   3.6   Corner profile - by others

7   Concrete Wall - by others

   3.2   Aluminum HAT channel - by others
   3.1   Aluminum J channel - by others

8   Base L profile - by others

F
F'

Scale 1:2

/

www.parklexprodema.com TITLEPLAN#

DATE

PAGEAPPROVED BY

DRAWN BYPRODUCT SYSTEM

Measures: inchMeasurements in inches are approximated. Real measurements in mm.

01/2022Joseba Salbide

Maialen Irastorza

FAÇADE SIDING (METALLIC FRAME)
VERTICAL LAYOUTNATURSIDING

DETAIL F-F' // WINDOW JAMB 1NS1-01V-B-F1 7 20



E
A

su
pp

or
tin

g 
w

al
l

window
frame
jamb

D
/2

A

D/2 13.1 72.14 5 3.1/3.22.2

1    NATURSIDING
2   Screws

   2.1   Clip fixing screw
   2.2   Wall fixing screw - by others

3   Profiles

   3.5   Jamb profile - by others

   3.3   Coronation profile - by others

4   Fixing clip

A   Required min. air chamber ≥ 3/4" (20mm)
B   Circulation of air ≥ 3/4" (20mm)

E   Panel thickness   5/16" (8mm)
D   Horizontal expansion joint  1/4" (6mm)

   2.4   Washer 1/8" (3mm) - by others

   3.4   Sill profile - by others

6   Vent. screen - by others

C   Vertical expansion joint 1/16" (1mm)

5   Water resistant barrier - by others

   2.3   SX3 screw

   3.6   Corner profile - by others

7   Concrete Wall - by others

   3.2   Aluminum HAT channel - by others
   3.1   Aluminum J channel - by others

8   Base L profile - by others

F
F'

Scale 1:2

/

www.parklexprodema.com TITLEPLAN#

DATE

PAGEAPPROVED BY

DRAWN BYPRODUCT SYSTEM

Measures: inchMeasurements in inches are approximated. Real measurements in mm.

01/2022Joseba Salbide

Maialen Irastorza

FAÇADE SIDING (METALLIC FRAME)
VERTICAL LAYOUTNATURSIDING

DETAIL F-F' // WINDOW JAMB 2NS1-01V-B-F2 8 20



supporting wall

window frame
head

A E

2.2

3.1

6

1

3.1

2.1

4

5

7

8

2.1

2.1

1    NATURSIDING
2   Screws

   2.1   Clip fixing screw
   2.2   Wall fixing screw - by others

3   Profiles

   3.5   Jamb profile - by others

   3.3   Coronation profile - by others

4   Fixing clip

A   Required min. air chamber ≥ 3/4" (20mm)
B   Circulation of air ≥ 3/4" (20mm)

E   Panel thickness   5/16" (8mm)
D   Horizontal expansion joint  1/4" (6mm)

   2.4   Washer 1/8" (3mm) - by others

   3.4   Sill profile - by others

6   Vent. screen - by others

C   Vertical expansion joint 1/16" (1mm)

5   Water resistant barrier - by others

   2.3   SX3 screw

   3.6   Corner profile - by others

7   Concrete Wall - by others

   3.2   Aluminum HAT channel - by others
   3.1   Aluminum J channel - by others

8   Base L profile - by others

G'
G

Scale 1:2

/

www.parklexprodema.com TITLEPLAN#

DATE

PAGEAPPROVED BY

DRAWN BYPRODUCT SYSTEM

Measures: inchMeasurements in inches are approximated. Real measurements in mm.

01/2022Joseba Salbide

Maialen Irastorza

FAÇADE SIDING (METALLIC FRAME)
VERTICAL LAYOUTNATURSIDING

DETAIL G-G' // WINDOW HEADNS1-01V-B-G 9 20



supporting wall A E

D
/2

13.1 72.14 5

1

3.1/3.2

2.3

2.2

2.4

1    NATURSIDING
2   Screws

   2.1   Clip fixing screw
   2.2   Wall fixing screw - by others

3   Profiles

   3.5   Jamb profile - by others

   3.3   Coronation profile - by others

4   Fixing clip

A   Required min. air chamber ≥ 3/4" (20mm)
B   Circulation of air ≥ 3/4" (20mm)

E   Panel thickness   5/16" (8mm)
D   Horizontal expansion joint  1/4" (6mm)

   2.4   Washer 1/8" (3mm) - by others

   3.4   Sill profile - by others

6   Vent. screen - by others

C   Vertical expansion joint 1/16" (1mm)

5   Water resistant barrier - by others

   2.3   SX3 screw

   3.6   Corner profile - by others

7   Concrete Wall - by others

   3.2   Aluminum HAT channel - by others
   3.1   Aluminum J channel - by others

8   Base L profile - by others

H H'

Scale 1:2

/

www.parklexprodema.com TITLEPLAN#

DATE

PAGEAPPROVED BY

DRAWN BYPRODUCT SYSTEM

Measures: inchMeasurements in inches are approximated. Real measurements in mm.

01/2022Joseba Salbide

Maialen Irastorza

FAÇADE SIDING (METALLIC FRAME)
VERTICAL LAYOUTNATURSIDING

DETAIL H-H' // INSIDE CORNERNS1-01V-B-H 10 20



E
A

su
pp

or
tin

g 
w

al
l

1 3.1/3.2 72.14 5

1

2.3

2.4

D/2 3.1 2.2

1    NATURSIDING
2   Screws

   2.1   Clip fixing screw
   2.2   Wall fixing screw - by others

3   Profiles

   3.5   Jamb profile - by others

   3.3   Coronation profile - by others

4   Fixing clip

A   Required min. air chamber ≥ 3/4" (20mm)
B   Circulation of air ≥ 3/4" (20mm)

E   Panel thickness   5/16" (8mm)
D   Horizontal expansion joint  1/4" (6mm)

   2.4   Washer 1/8" (3mm) - by others

   3.4   Sill profile - by others

6   Vent. screen - by others

C   Vertical expansion joint 1/16" (1mm)

5   Water resistant barrier - by others

   2.3   SX3 screw

   3.6   Corner profile - by others

7   Concrete Wall - by others

   3.2   Aluminum HAT channel - by others
   3.1   Aluminum J channel - by others

8   Base L profile - by others

I I'

Scale 1:2

/

www.parklexprodema.com TITLEPLAN#

DATE

PAGEAPPROVED BY

DRAWN BYPRODUCT SYSTEM

Measures: inchMeasurements in inches are approximated. Real measurements in mm.

01/2022Joseba Salbide

Maialen Irastorza

FAÇADE SIDING (METALLIC FRAME)
VERTICAL LAYOUTNATURSIDING

DETAIL I-I' // OUTSIDE CORNER 1NS1-01V-B-I1 11 20



E
A

su
pp

or
tin

g 
w

al
l

3.6

D
/2

D/2

1 3.1/3.2 72.14 5

1

2.3

2.4

3.1 2.2

1    NATURSIDING
2   Screws

   2.1   Clip fixing screw
   2.2   Wall fixing screw - by others

3   Profiles

   3.5   Jamb profile - by others

   3.3   Coronation profile - by others

4   Fixing clip

A   Required min. air chamber ≥ 3/4" (20mm)
B   Circulation of air ≥ 3/4" (20mm)

E   Panel thickness   5/16" (8mm)
D   Horizontal expansion joint  1/4" (6mm)

   2.4   Washer 1/8" (3mm) - by others

   3.4   Sill profile - by others

6   Vent. screen - by others

C   Vertical expansion joint 1/16" (1mm)

5   Water resistant barrier - by others

   2.3   SX3 screw

   3.6   Corner profile - by others

7   Concrete Wall - by others

   3.2   Aluminum HAT channel - by others
   3.1   Aluminum J channel - by others

8   Base L profile - by others

I I'

Scale 1:2

/

www.parklexprodema.com TITLEPLAN#

DATE

PAGEAPPROVED BY

DRAWN BYPRODUCT SYSTEM

Measures: inchMeasurements in inches are approximated. Real measurements in mm.

01/2022Joseba Salbide

Maialen Irastorza

FAÇADE SIDING (METALLIC FRAME)
VERTICAL LAYOUTNATURSIDING

DETAIL I-I' // OUTSIDE CORNER 2NS1-01V-B-I2 12 20



supporting wall

door frame
head

A E

2.2

3.1

6

1

3.1

2.1

4

5

7

8

2.1

2.1

1    NATURSIDING
2   Screws

   2.1   Clip fixing screw
   2.2   Wall fixing screw - by others

3   Profiles

   3.5   Jamb profile - by others

   3.3   Coronation profile - by others

4   Fixing clip

A   Required min. air chamber ≥ 3/4" (20mm)
B   Circulation of air ≥ 3/4" (20mm)

E   Panel thickness   5/16" (8mm)
D   Horizontal expansion joint  1/4" (6mm)

   2.4   Washer 1/8" (3mm) - by others

   3.4   Sill profile - by others

6   Vent. screen - by others

C   Vertical expansion joint 1/16" (1mm)

5   Water resistant barrier - by others

   2.3   SX3 screw

   3.6   Corner profile - by others

7   Concrete Wall - by others

   3.2   Aluminum HAT channel - by others
   3.1   Aluminum J channel - by others

8   Base L profile - by others

J

J'

Scale 1:2

/

www.parklexprodema.com TITLEPLAN#

DATE

PAGEAPPROVED BY

DRAWN BYPRODUCT SYSTEM

Measures: inchMeasurements in inches are approximated. Real measurements in mm.

01/2022Joseba Salbide

Maialen Irastorza

FAÇADE SIDING (METALLIC FRAME)
VERTICAL LAYOUTNATURSIDING

DETAIL J-J' // DOOR HEADNS1-01V-B-J 13 20



E
A

su
pp

or
tin

g 
w

al
l

door frame
jamb

D/2

3.5

13.1 72.14 5 3.1/3.2

1    NATURSIDING
2   Screws

   2.1   Clip fixing screw
   2.2   Wall fixing screw - by others

3   Profiles

   3.5   Jamb profile - by others

   3.3   Coronation profile - by others

4   Fixing clip

A   Required min. air chamber ≥ 3/4" (20mm)
B   Circulation of air ≥ 3/4" (20mm)

E   Panel thickness   5/16" (8mm)
D   Horizontal expansion joint  1/4" (6mm)

   2.4   Washer 1/8" (3mm) - by others

   3.4   Sill profile - by others

6   Vent. screen - by others

C   Vertical expansion joint 1/16" (1mm)

5   Water resistant barrier - by others

   2.3   SX3 screw

   3.6   Corner profile - by others

7   Concrete Wall - by others

   3.2   Aluminum HAT channel - by others
   3.1   Aluminum J channel - by others

8   Base L profile - by others

K K'

Scale 1:2

/

www.parklexprodema.com TITLEPLAN#

DATE

PAGEAPPROVED BY

DRAWN BYPRODUCT SYSTEM

Measures: inchMeasurements in inches are approximated. Real measurements in mm.

01/2022Joseba Salbide

Maialen Irastorza

FAÇADE SIDING (METALLIC FRAME)
VERTICAL LAYOUTNATURSIDING

DETAIL K-K' // DOOR JAMB 1NS1-01V-B-K1 14 20



E
A

su
pp

or
tin

g 
w

al
l

door frame
jamb

D
/2

A

D/2 13.1 72.14 5 3.1/3.22.2

1    NATURSIDING
2   Screws

   2.1   Clip fixing screw
   2.2   Wall fixing screw - by others

3   Profiles

   3.5   Jamb profile - by others

   3.3   Coronation profile - by others

4   Fixing clip

A   Required min. air chamber ≥ 3/4" (20mm)
B   Circulation of air ≥ 3/4" (20mm)

E   Panel thickness   5/16" (8mm)
D   Horizontal expansion joint  1/4" (6mm)

   2.4   Washer 1/8" (3mm) - by others

   3.4   Sill profile - by others

6   Vent. screen - by others

C   Vertical expansion joint 1/16" (1mm)

5   Water resistant barrier - by others

   2.3   SX3 screw

   3.6   Corner profile - by others

7   Concrete Wall - by others

   3.2   Aluminum HAT channel - by others
   3.1   Aluminum J channel - by others

8   Base L profile - by others

K K'

Scale 1:2

/

www.parklexprodema.com TITLEPLAN#

DATE

PAGEAPPROVED BY

DRAWN BYPRODUCT SYSTEM

Measures: inchMeasurements in inches are approximated. Real measurements in mm.

01/2022Joseba Salbide

Maialen Irastorza

FAÇADE SIDING (METALLIC FRAME)
VERTICAL LAYOUTNATURSIDING

DETAIL K-K' // DOOR JAMB 2NS1-01V-B-K2 15 20



supporting wall A E

4

13.12.1 4 5 72.2

1

5

7

3.1

3.1

2.1

B

1    NATURSIDING
2   Screws

   2.1   Clip fixing screw
   2.2   Wall fixing screw - by others

3   Profiles

   3.5   Jamb profile - by others

   3.3   Coronation profile - by others

4   Fixing clip

A   Required min. air chamber ≥ 3/4" (20mm)
B   Circulation of air ≥ 3/4" (20mm)

E   Panel thickness   5/16" (8mm)
D   Horizontal expansion joint  1/4" (6mm)

   2.4   Washer 1/8" (3mm) - by others

   3.4   Sill profile - by others

6   Vent. screen - by others

C   Vertical expansion joint 1/16" (1mm)

5   Water resistant barrier - by others

   2.3   SX3 screw

   3.6   Corner profile - by others

7   Concrete Wall - by others

   3.2   Aluminum HAT channel - by others
   3.1   Aluminum J channel - by others

8   Base L profile - by others

L

L'

Scale 1:2

/

www.parklexprodema.com TITLEPLAN#

DATE

PAGEAPPROVED BY

DRAWN BYPRODUCT SYSTEM

Measures: inchMeasurements in inches are approximated. Real measurements in mm.

01/2022Joseba Salbide

Maialen Irastorza

FAÇADE SIDING (METALLIC FRAME)
VERTICAL LAYOUTNATURSIDING

DETAIL L-L' // WALL-SOFFIT INSIDE CORNERNS1-01V-B-L 16 20



B

supporting wall

E
su

pp
or

tin
g 

w
al

l
A

1

5

7

3.1

3.1

4

2.1
1 3.1/3.2 5 72.2 2.3 2.4

1    NATURSIDING
2   Screws

   2.1   Clip fixing screw
   2.2   Wall fixing screw - by others

3   Profiles

   3.5   Jamb profile - by others

   3.3   Coronation profile - by others

4   Fixing clip

A   Required min. air chamber ≥ 3/4" (20mm)
B   Circulation of air ≥ 3/4" (20mm)

E   Panel thickness   5/16" (8mm)
D   Horizontal expansion joint  1/4" (6mm)

   2.4   Washer 1/8" (3mm) - by others

   3.4   Sill profile - by others

6   Vent. screen - by others

C   Vertical expansion joint 1/16" (1mm)

5   Water resistant barrier - by others

   2.3   SX3 screw

   3.6   Corner profile - by others

7   Concrete Wall - by others

   3.2   Aluminum HAT channel - by others
   3.1   Aluminum J channel - by others

8   Base L profile - by others

M

M'

Scale 1:2

/

www.parklexprodema.com TITLEPLAN#

DATE

PAGEAPPROVED BY

DRAWN BYPRODUCT SYSTEM

Measures: inchMeasurements in inches are approximated. Real measurements in mm.

01/2022Joseba Salbide

Maialen Irastorza

FAÇADE SIDING (METALLIC FRAME)
VERTICAL LAYOUTNATURSIDING

DETAIL M-M' // WALL-SOFFIT INSIDE CORNER 2NS1-01V-B-M 17 20



E
A

su
pp

or
tin

g 
w

al
l

D/21 3.1 2.1457 2.2

2.2

3.1

6

1

3.1

2.1

4

5

7

8

2.1

2.1

1    NATURSIDING
2   Screws

   2.1   Clip fixing screw
   2.2   Wall fixing screw - by others

3   Profiles

   3.5   Jamb profile - by others

   3.3   Coronation profile - by others

4   Fixing clip

A   Required min. air chamber ≥ 3/4" (20mm)
B   Circulation of air ≥ 3/4" (20mm)

E   Panel thickness   5/16" (8mm)
D   Horizontal expansion joint  1/4" (6mm)

   2.4   Washer 1/8" (3mm) - by others

   3.4   Sill profile - by others

6   Vent. screen - by others

C   Vertical expansion joint 1/16" (1mm)

5   Water resistant barrier - by others

   2.3   SX3 screw

   3.6   Corner profile - by others

7   Concrete Wall - by others

   3.2   Aluminum HAT channel - by others
   3.1   Aluminum J channel - by others

8   Base L profile - by others

N

N'

Scale 1:2

/

www.parklexprodema.com TITLEPLAN#

DATE

PAGEAPPROVED BY

DRAWN BYPRODUCT SYSTEM

Measures: inchMeasurements in inches are approximated. Real measurements in mm.

01/2022Joseba Salbide

Maialen Irastorza

FAÇADE SIDING (METALLIC FRAME)
VERTICAL LAYOUTNATURSIDING

DETAIL N-N' // WALL-SOFFIT OUTSIDE CORNER 1NS1-01V-B-N 18 20



E
A

su
pp

or
tin

g 
w

al
l

D/2

2.2

3.1

6

1

3.1

2.1

4

5

7

8

2.1

2.1

1 3.1/3.2 5 7 2.1 4

1    NATURSIDING
2   Screws

   2.1   Clip fixing screw
   2.2   Wall fixing screw - by others

3   Profiles

   3.5   Jamb profile - by others

   3.3   Coronation profile - by others

4   Fixing clip

A   Required min. air chamber ≥ 3/4" (20mm)
B   Circulation of air ≥ 3/4" (20mm)

E   Panel thickness   5/16" (8mm)
D   Horizontal expansion joint  1/4" (6mm)

   2.4   Washer 1/8" (3mm) - by others

   3.4   Sill profile - by others

6   Vent. screen - by others

C   Vertical expansion joint 1/16" (1mm)

5   Water resistant barrier - by others

   2.3   SX3 screw

   3.6   Corner profile - by others

7   Concrete Wall - by others

   3.2   Aluminum HAT channel - by others
   3.1   Aluminum J channel - by others

8   Base L profile - by others

O

O'

Scale 1:2

/

www.parklexprodema.com TITLEPLAN#

DATE

PAGEAPPROVED BY

DRAWN BYPRODUCT SYSTEM

Measures: inchMeasurements in inches are approximated. Real measurements in mm.

01/2022Joseba Salbide

Maialen Irastorza

FAÇADE SIDING (METALLIC FRAME)
VERTICAL LAYOUTNATURSIDING

DETAIL O-O' // WALL-SOFFIT OUTSIDE CORNER 2NS1-01V-B-O 19 20



A
E

su
pp

or
tin

g 
w

al
l

D

13.22.1 4 5 72.2

1    NATURSIDING
2   Screws

   2.1   Clip fixing screw
   2.2   Wall fixing screw - by others

3   Profiles

   3.5   Jamb profile - by others

   3.3   Coronation profile - by others

4   Fixing clip

A   Required min. air chamber ≥ 3/4" (20mm)
B   Circulation of air ≥ 3/4" (20mm)

E   Panel thickness   5/16" (8mm)
D   Horizontal expansion joint  1/4" (6mm)

   2.4   Washer 1/8" (3mm) - by others

   3.4   Sill profile - by others

6   Vent. screen - by others

C   Vertical expansion joint 1/16" (1mm)

5   Water resistant barrier - by others

   2.3   SX3 screw

   3.6   Corner profile - by others

7   Concrete Wall - by others

   3.2   Aluminum HAT channel - by others
   3.1   Aluminum J channel - by others

8   Base L profile - by others

p p'

Scale 1:2

/

www.parklexprodema.com TITLEPLAN#

DATE

PAGEAPPROVED BY

DRAWN BYPRODUCT SYSTEM

Measures: inchMeasurements in inches are approximated. Real measurements in mm.

01/2022Joseba Salbide

Maialen Irastorza

FAÇADE SIDING (METALLIC FRAME)
VERTICAL LAYOUTNATURSIDING

DETAIL P-P' // SOFFIT JOINTNS1-01V-B-P 20 20


	Sheets and Views
	NS1-01V-b2 (inch)-G.P.

	Sheets and Views
	NS1-01V-b2 (inch)-A

	Sheets and Views
	NS1-01V-b2 (inch)-B

	Sheets and Views
	NS1-01V-b2 (inch)-C

	Sheets and Views
	D

	Sheets and Views
	NS1-01V-b2 (inch)-E

	Sheets and Views
	NS1-01V-b2 (inch)-F1

	Sheets and Views
	NS1-01V-b2 (inch)-F2

	Sheets and Views
	NS1-01V-b2 (inch)-G

	Sheets and Views
	NS1-01V-b2 (inch)-H

	Sheets and Views
	NS1-01V-b2 (inch)-I1

	Sheets and Views
	NS1-01V-b2 (inch)-I2

	Sheets and Views
	NS1-01V-b2 (inch)-J

	Sheets and Views
	NS1-01V-b2 (inch)-K1

	Sheets and Views
	NS1-01V-b2 (inch)-K2

	Sheets and Views
	NS1-01V-b2 (inch)-L

	Sheets and Views
	NS1-01V-b2 (inch)-M

	Sheets and Views
	NS1-01V-b2 (inch)-N

	Sheets and Views
	NS1-01V-b2 (inch)-O

	Sheets and Views
	NS1-01V-b2 (inch)-P


